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Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each. 

1. Discuss how significant are pricing decisions for 20 

a business. Explain various pricing principles and 

techniques. Give examples of pricing in practice 
in India. 

2. Define the concepts of labour productivity, capital 20 

productivity and capital intensity. Discuss in brief 

the trends in the growth of total factor 
productivity in India. 
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3. Discuss the major problems faced by large 20 
industries in India? Explain in brief, the growth, 
structure and problems of iron and steel industry 
in India. 

4. Explain the general structure and organisation of 20 
Indian industry at the time of Independence. 
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SECTION-B 

Answer any four quesions from this section. 

5. Discuss the role and rationale of public sector 12 
enterprises in India. 

6. Briefly examine the link between industry and 12 
trasport sector of the economy. 

7. Discuss various technical factors that influence 12 
the size of a production unit. 

8. What do you mean by structural transformation 12 
of an economy ? Enumerate the changes that 
occur in the structure of an economy as it 
develops. Explain with the help of a case study. 

9. Compare the trends in wages and salary in Indian 12 
industry since 1980. Do you think wages have 
grown uniformly across all industries ? 

10. Briefly discuss the disinvestment policy in India. 	12 
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SECTION-C 

Answer as per directions : 

11. Differentiate betwen any two of the following. 

(a) Cooperative sector and joint sector 

(b) Trade credit and Bank Finance. 

(c) Zero Interest Bond and Callable Bond. 

6 

6 

6 
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